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I J<ì�^¹]<íéÛÒ<h^Š£<êÖ^n¹]<‡^ÇÖ]<áçÞ^Î<Ì¾çè 

I J<°éÚ^¿ßÖ]<°�†�Ö]<»<¼Ç–Ö]<æ<êÖç¹]<Ür£]<æ<ì…]†£]<íq…�<àÚ<ØÒ<ÜéÎ<Í†Ãè< <
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Ù^�]Ù^�]Ù^�]Ù^�]<<<<<V<V<V<V¹]<^ã{{{i÷ç�<æ<ì�^{{{<< <
<ì‚uçÖ]<ì‚uçÖ]<ì‚uçÖ]<ì‚uçÖ]<V<V<V<VêÖ^n¹]<‡^ÇÖ]<tƒç´<J< 

I- ‰^éÎ<æ<‡^Æ<¼Ç•<ÝçãËÚ<äV 

_<I  íéeçÓ‰<æ†Ò^¹]<íÖ^£]<V 

ú´<J<íÞçÖ^fÖ]<‚ŠÞ<Üm<ð]ç�]<íŞ‰]çe<íéÓéj‰øe<íÞçÖ^e< <
<<<<<<<<<<<<<<<<<<<<<<<<<<í×ò‰ù]<V< 

 [<ØÓ�Ö]<]„â<íÞçÖ^fÖ]<„}`i<]ƒ^{{¹ 

� <ØÓ�Ö]<]„â<íÞçÖ^fÖ]<„}`iJ<ð]ç�^e<ìõç×º<^ãÞù 

 [<íÞçÖ^fÖ]<»<ì‡çr�]<l]‡^ÇÖ]<êâ<^Ú 

� �]<l]‡^ÇÖ]çr‡»<ì<<êâ<íÞçÖ^fÖ]2CO<<H2O<<H2N<<HJJJ 

 èˆq<Øâò[<íÒ†vjÚ<Ý_<íßÒ^‰<íÞçÖ^fÖ]<Ø}]�<ì�çqç¹]<l]‡^ÇÖ]<l^ 

� òèˆq<ácJ<íÃè†‰<æ<íÛñ]�<íéñ]ç�Â<íÒ†u<íÖ^u<»<ì�çqç¹]<l]‡^ÇÖ]<l^ 

 º<êâ<æ<íÏe^ŠÖ]<íÞçÖ^fÖ]<†ÛÇÞ<ð]ç�^e<ìö×<î×Â<ëçj¬<ð^Âæ<Ø}]�
ð^{{Ú<H<íÞçÖ^fÖ]<»<ì†ec<íŞ‰]çe<ğ̂ fÏm<p‚©<Üm<J<^Ú[<Àuøi<]ƒ 

� <gÏnÖ]<àÚ<t†¡<løÂ^ÏÊ<ØÓ�i<ÀuøÞ<h†Ši<íréjÞ
J<ð^¹]<±c<gÏnÖ]<àÚ<l]‡^ÇÖ]  

 

h<<I  <íéeçÓ‰<æ†Óé¹]<íÖ^£]V 

1- <‡^ÇÖ]<»<íŞÆ^–Ö]<ìçÏÖ]V 

<<<<<<<<<<<‡^ÇÖ]<l^òèˆq<Õ†vji]�<íÒ†�<íÛñá]…‚¢]<°eæ<^ãßée<^ÛéÊ<l^òèˆ¢]<å„â<Ý�^’ji<H<íéñ]ç�Â< <
<<ð^ßm_<H^ãéÊ<íÂç•ç¹]<<<êÖ]ç�<…‚Ïi<íÂ†Še<ì†ÛjŠ¹]<^ãjÒ†u300 /m s<]„â<æ<íéÒ†u<íÎ^�<Ô×³<êãÊ< <

<Ønµ<^Ú]‚¢]<î×Â<åç�i<ó�ßè<á†¹]<ð^ÂçÖ]<…]‚q<Ý‚’i<^Ú‚ßÂ<æ<H<¼Ç–×Ö<êeçÓ‰<æ†ÓéÖ]<�ŠËjÖ]…< <

<<íŞÆ^•<ìçÎ<sjßjÊ( )F
��

<íÂ†Še<Ð×Ãji<íéeçÓ‰<æ†Ò^Ú<ìçÎ<êâ<æ<<íè�çÛÂ<áçÓi<æ<H<l^òèˆ¢]< <

<î×Â<xŞ‰<^ãjÛéÎ<Ð×Ãji<÷<æ<�m`jÖ]å^Ÿ^e<Ö]<†ŠËè<^Ú<]„â<æ<½çÇ–¹]<xŞŠÖ]J<êeçÓ‰<æ†Ò^¹]<�ŠËj<< <
2- <‡^Æ<¼Ç•V< 

�çÛÂ<æ<ì‚�Ö]<íje^m<ìçÎ<ÐfŞè<á‡]çj¹]<‡^ÇÖ]<ác<íè†ã�]<ïçÏÖ]<í×’¦<àÂ<íŸ^Þ<êâ<æ<äŠÚøè<xŞ‰<ØÒ<î×Â<íè
<íŸ^ßÖ]<î×Â<‡^ÇÖ]<Í†�<àÚ<íÏfŞ¹]<ïçÏÖ]<ì‚�<àÂ<�ÃŁè<êeçÓ‰<æ†Ò^Ú<…]‚Ï²<äßÂ<�ÃÞ<^Ú<]„â<æ<H<l^Ú�^’i<àÂ

<xŞŠÖ]( )S<ˆÚ†Ö^e<äÖ<ˆÚ†Þ<H<¼Ç–Ö]<çâ<æ( )P
 

Â<�Ãè<çâ<æxŞŠÖ]<ì‚uæ<»<ì‚�<à<<<<<HV<oéu<<<<        <F
P

S
= 

I <uçÖ]<í×¶<»<¼Ç–Ö]<Œ^éÎ<ì‚uæ‚<êâ<íéÖæ‚Ö]<l]<Ù^Ó‰^fÖ]( )Pa<Voéu<21 1 /Pa N m=< 

<ï†}_<l]‚uæ<Õ^ßâ<æ<V< <

<Ù^Ó‰^e<çjÓéâ<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<21 10hPa Pa=< <

Ù^Ó‰^e<ç×éÒ<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<31 10KPa Pa=< <

<ç¢]<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<51 1,013.10atm Pa=<<<<<<<<<<< <
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<…^fÖ]<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<51 10Ba Pa=< <

êÏfñˆÖ]<�ÛéjßŠÖ]<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<576 1 1,013.10cmHg atm Pa= =< 

3- <ëç¢]<¼Ç–Ö]V 

‰`Ò<ú´<‚éÖ]<íu]…<Ä–Þ<Üm<xé�†i<íÎ…æ<Øñ^Š×Ö<gñ^ŠÖ]<xŞŠÖ]<ÑçÊ<Ä–ßÖ<æ<ğ̂ Ú^i<ğúÚ<ð^¹^e<ğ̂<ğ̂ ‰_…<äf×ÏßÖ<æ<íÎ…çÖ]<ÑçÊ
J<gÏÂ<î×Â< <

 [<Àuøi<]ƒ^Ú 

� J<ð^¹]<½çÏ‰<Ý‚Â<ÀuøÞ 

Ö]j<�ŠËV�çqçÖ<ì†â^¿Ö]<å„â<pæ‚u<gf‰<Ø×ÃÞ<<ëç¢]<ð]ç�]<íréjÞ<íŞÆ^•<ìçÎ< <
„Ö]<ÜŠ¢]<½^ÏÞ<àÚ<íŞÏÞ<ë_<»<†möi<îÛŠi<äŠÚøi<ë¼Ç–Ö^e<ëç¢]<<J< <

<íréjÞVŠÖ]<î×Â<ìçÎ<ÐfŞè<ë‡^Æ<¼é×}<ëç¢]<ð]ç�]{e<ð]ç�]<àÂ<Üq^ßÖ]<¼Ç–Ö]<îÛŠè<xŞ<¼Ç–Ö]<ëç¢]<J< <

<ëç¢]<¼Ç–Ö]<Œ^éÎV<H<ëç¢]<¼Ç–Ö]<íÛéÎ<äé×Â<_†ÏÞ<ë„Ö]<�Úæ…^fÖ]<íŞ‰]çe<ëç¢]<¼Ç–Ö]<Œ^Ïè<íÛéÎ<È×fi

íq…�<‚ßÂ<æ<†vfÖ]<xŞ‰<‚ßÂ<ëç¢]<¼Ç–Ö]<<ì…]†u( )0 c°<V51,013.10 1 76 .P Pa atm cm Hg= = = 

II - <^ã‰^éÎ<æ<ì…]†£]<íq…�<ÝçãËÚV 

<ì�^¹]<íÖ^u<î×Â<�m`i<äÖ<êñ^èˆéÊ<…]‚ÏÚ<ì…]†£]J< <
íe†rjÖ]<V< <

¹^e<íéq^q‡<íÞçÖ^e<ú²<ÝçÏÞ{{<áç×¹]<ð^ßÎ<^ãÎ�¡<ì�]‚Še<^â‚Še<ÝçÏÞ<æ<îju<áç×¹]<ð^¹^e<ìö×º<íéq^q‡<ì^
íÞçÖ^fÖ]<å„â<†ÛÇÞ<æ<H<^ãË’jßÚ<J<à}^‰<Øñ^‰<»< <

 

< <
< <
< <
< <
< <
< <
< <

 

 [<Àuøi<]ƒ^Ú 

� <äÛru<ì�^è‡<æ<áç×¹]<Øñ^ŠÖ]<�‚³<ÀuøÞ<Øñ^ŠÖ]<°e<ë…]†u<á‡]çi<pæ‚u<îju<�‚ÛjÖ]<»<†ÛjŠè<æ
J<šç£]<»<�çqç¹]<Øñ^ŠÖ]<æ<áç×¹] 

1- ë†ã�]<�ŠËjÖ]<<Vc<�]�ˆè<ì…]†£]<íq…�<�]�ˆi<^Ú‚ßÂ¹]<l^òèˆq<h]†Ş•E<íÖ^£]<àÚ<áç×¹]<ð^1D<cE<íÖ^£]<±2<]„â<D
<íÞçÖ^fÖ]<±c<šç£]<»<�çqç¹]<Øñ^ŠÖ]<àÚ<ØÏjßè<h]†Ş•ý]<êÖ^jÖ^e<æ<H<†nÒ`{Ê<†nÒ_<äi^òèˆq<h†Ş–jÊ

è<áç×¹]<Øñ^ŠÖ^Ê<�Ò_<ğ]ˆéu<ØÇ�èj‚jÛ�<J<hçfÞù]<»<‚Ã’è<æ 

2- ì…]†£]<íq…�<Œ^éÎ<V 

_<I  Œ^éÏÖ]<ìˆãq_<…]†�^e<ì…]†£]<íq…�<Œ^Ïi<V<Ethermomètre <‚ÛjÃè<¼Î÷<î×Â<ëçj¬<oéu<D<ä×ÛÂ<_‚fÚ
<†â]ç¿Ö]<å„â<˜Ãe<àÚ<æ<ì…]†£]<íq…�<�Çje<�Çji<íéñ^èˆéÊ<ì†â^¾<î×ÂJ 

I �‚ÛjÖ]<<V<J<êÏfñˆÖ]<…]†�]<æ_<<êÖçvÓÖ]<…]†�] 

íÖ^£] )1( íÖ^£] )2( 

à}^‰<Øñ^‰ 

íéq^q‡<íÞçÖ^e 

áç×Ú<ð^Ú 

P 

 مــاء

 ورقة ترشيح

F 
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I íÚæ^Ï¹]<íéñ^e†ãÓÖ]<V<J<êÞæ�ÓÖý]<Õ†�] 

I …]‚‘c<Å^Ã�c<J<ð]†Û£]<k�<l^Â^Ã�ý]<l^Ò†¦<V 

< <
h<I  uæì…]†£]<íq…�<Œ^éÎ<ì‚<V 

<<<<<<<<<çâ<ğ̂ éÖæ�<äé×Â<ÐËj¹]<æ<ì…]†£]<íq…�<Œ^éÏÖ<ØÛÃjŠ¹]<Ü×ŠÖ]íq…�<ì…]†£]<íÏ×Ş¹]<<^ãi‚uæàË×ÓÖ] <^�<ˆÚ†Þ<æ
<ˆÚ†Ö^e( )K°<<îÂ‚i<äi‚uæ<<ÝçéŠé×éŠÖ]<çâ<æ<†}_<Ü×‰<Õ^ßâ<æíq…‚Ö]<íèçò¹]<( )c°uHé<V<o<<0 273K c° = − °<<H

0 273c K° = °<<V<êâ<íèçò¹]<æ<íÏ×Ş¹]<ì…]†£]<íq…�<°e<íÎøÃÖ]<æ<<<<<<<<<<<<<( ) ( ) 273T K t c° = ° +<< <

<<<<<<<<<<<<<<<<í¿uøÚ<<á‡]çi<p‚¬<îju<Ý‡øÖ]<kÎçÖ]<„}_<g«<Œ^éÏÖ]<ð]†qc<‚ßÂ<V<ë„Ö]<ÜŠ¢]<æ<…]†�]<°eíq…�<Œ^éÎ<‚è†Þ< <
<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<äi…]†u<H�]<áùJ<ì…]†£]<íq…�<‹éÏÖ<Ù^r²<ˆéÛjè<…]†<< <

III- <êÖ^n¹]<‡^ÇÖ]<tƒç´V 

1 - ¼Ç–Ö]<íÎøÂ( )P
 

äÛr�<á‡]çjÚ<‡^ÇÖ( )V
 

<Øèçe<áçÞ^Î<E–<D<½çè…^Ú<V 

Þ<Üru<l]ƒ<íßÏu<„}`67, )2( V ml=<ì…]†£]<íq…�<kéfnje<ÝçÏÞ<H<¼Ç–×Ö<Œ^éÎ<‡^ãœ<íÖç‘çÚ

( 0 )2t c= °<ì�^¹]<íéÛÒ<æ32.10( )n mol−=<Ür£]<ì†Ú<ØÒ<»<�ÇÞ<æ( )V<‹fÓÚ<î×Â<¼Ç–Ö^e
V<êÖ^jÖ]<Ùæ‚¢]<»<ÐÊ]ç¹]<¼Ç–Ö]<áæ‚Þ<æ<íßÏ£]< <

< <
< <

 [<Àuøi<]ƒ^Ú 

� <“ÏÞ<^Û×Ò<äÞ_<ÀuøÞÜr£]( )V<<�]‡¼Ç–Ö]( )P<…]‚Ï¹]<á_<Ùæ‚¢]<àÚ<ÀuøÞ<æ<H. tePV C= 

^m<E<ØèçeE<áçÞ^Î<“Þ<äßÚ<æ<D<ke–<J<D<½çè…^Ú 

<<<<<<<<<>   >¼Ç–Ö]<H<íje^m<ì…]†u<íq…�<‚ßÂ( )P<<á‡]çjÚ<‡^ÇÖäÛru<ÄÚ<ğ̂ ŠÓÂ<g‰^ßjè( )V<<íÎøÃÖ]<íe^jÒ<àÓµ<ë_<H

<V<ØÓ�Ö]<î×Â<^Ûãßée. tePV C=<<<< << 

ÐéfŞi<V< <

<‡^Æ<àÚ<íéÛÒ<gvŠe<ÝçÏÞ2CO<<¼Ç–Ö]<Œ^éÏ²<^ã×‘çÞ<Üm<H<íßÏu<íŞ‰]çe<D<áçe†ÓÖ]<‚éŠÒ_<êñ^ßm<E<ØÒ<»<H
<_†ÏÞ<æ<‹fÓ¹]<î×Â<¼Ç–Þ<ì†ÚV<íéÖ^jÖ]<sñ^jßÖ]<ØrŠßÖ<Ür£]< <

1<I [<Àuøi<]ƒ^Ú<H<Ùæ‚¢]<úÚc< 

2<I <Øèçe<áçÞ^Î<Øâ–<[<ÐÏ¦<½çè…^Ú 

3<I <íÃe…_<¼Ç–Ö]<xf’è<îju<‡^ÇÖ]<Üru<çâ<^Ú
[<ëç¢]<¼Ç–Ö]<Í^Ã•_ 

£]Ø<V< <

1<I <ð]‚¢]<á_<ÀuøÞ<Ùæ‚¢]<úÚ<‚Ãe. 48 .PV atm ml=<<<<<H<á_<ë_. tePV C=J 

2<I e<áçÞ^Î<Øèç–<½çè…^Ú<<<ÐÏ¦. tePV C=J 

3<I <Øèçe<áçÞ^Î<ÐéfŞje<ğ]ƒc–<<½çè…^ÚV< <

1 1 2 2. . teP V P V C= =<<<<V<äßÚ<æ1 1
2

2

. 1,2 40
12

4

P V
V ml

P

×
= = =< <

20  30  39,9 50  67,2  V(ml)  
2,44  1,63  1,22  0,98  0,73  P(bar)  
48,8  48,9  48,67  49  49,05  P.V(Bar.ml)  

24  26,6  30  34,2  40  V(ml)  
2,0  1,8  1,6  1,4  1,2  P(atm)  
48,0  47,88  48,0  47,88  48  P.V(atm.ml)  
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<çâ<Ür£]<áçÓè<á_<g«<ëç¢]<¼Ç–Ö]<Í^Ã•_<íÃe…_<¼Ç–Ö]<xf’è<îju12mlJ< <

2 - ¼Ç–Ö]<íÎøÂ( )P
 

äi…]†u<íq…‚e<á‡]çjßÚ<‡^ÇÖ( )T<<Ù…^�<áçÞ^Î<ED<V 

Ür£]<kfnÞ( )V ‚ßÂ<íßÏ£]<»<�çqç¹]<ð]çã×Ö( 0 )6V ml=äi…]†u<íq…�<�ÇÞ<æ( )t<<ØÒ<»<æ<°~ŠjÖ^e
¼Ç–Ö]<ØrŠÞ<ì†Ú( )P<<H<V<êÖ^jÖ]<Ùæ‚¢]<î×Â<Ø’vßÊ< <

 [<Àuøi<]ƒ^Ú 

� è<ì…]†£]<íq…�<ì�^è‡<‚ßÂ<ÀuøÞ¼Ç–Ö]<�]�ˆ<H<¼Ç–Ö]<á_<ÙçÏÞ<äé×Â<æ( )P<ÄÚ<ğ]�†�<g‰^ßjè<<íq…�

íÏ×Ş¹]<ì…]†£]( )T<V<ë_teP
C

T
=<J 

ÐéfŞi<V< <
ì…]†£]<íq…�<kÞ^Ò<oéu<í×Î…æ<íßè‚Ú<àÚ<ğ̂ ÎøŞÞc<xñ^‰<†Ê^Šè<á_<ØfÎ32t c= °<<lørÂ<»<¼Ç–Ö]<Œ^éÏe<Ý^Î<H

å‚qçÊ<äi…^é‰180P KPa= äÖç‘æ<‚ßÂ<æ<<†ñ]ˆ¢]<íßè‚Ú<±cì…]†£]<íq…�<‚qæ10t c= °H<<»<¼Ç–Ö]<Œ^éÏe<Ý^ÏÊ
<¼Ç–Ö]<‚«<ÜÓÊ<H<lørÃÖ]<ì†¹]<å„â<D<ke^m<Ür£]<…^fjÂ^e<E<[< <

<<<<<<<<<<<<<<Ø£]<V< <
<Ø}]�<<‡^Ç×Ö<ì�^¹]<íéÛÒ<á_<�jÃÞjÖ]<‚ßÂ<�<Œ^éÏÖ]<á_<æ<ke^m<Üru<l]ƒ<lørÃÖ]<æ<íje^m<lørÃÖ]<¼‰çÖ]<ÄÚ<ë…]†£]<á‡]ç

<áçÞ^Î<ÐéfŞje<æ<êq…^¤]V<‚¨<Ù…^�<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<1 2

1 2

teP P
C

T T
= = 

<V<äßÚ<æ<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<1 2
2

1

180(10 273)
167,01

32 273

P T
P KPa

T

× +
= = =

+
< <

<V<xf‘_<lørÃÖ]<»<¼Ç–Ö]<‚¨<äé×Â<æ<<<<<<<<<<<<<<2 167,01P KPa=< <

3 - Ür£]<íÎøÂ( )V<Öäi…]†u<íq…‚e<ke^m<¼Ç–Ö<Ä•^}<æ<á‡]çjÚ<‡^Ç( )T<D<Õ^‰çÖ<ë^Æ<áçÞ^Î<E<V< 

äi…]†u<íq…�<áçÓi<ğ̂ éñ^Ú<ğ̂ Ú^·<†–©(25 )c°<gvŠÞ<H<Œ^éÏÖ]<‚ßÂ(10 )ml<íßÏu<íŞ‰]çe<ð]ç�]<àÚH<<»<^ã×}‚Þ<Üm
ğøé×Î<†¿jßÞ<æ<êñ^¹]<Ý^Û£]<ë…]†u<á‡]çi<p‚u<îju<<HÜr£]<‹éÏÞ<Üm<‚è‚¢]<<ì…]†u<l^q…�<Ý]‚~j‰de<íe†rjÖ]<‚éÃÞ<H

<V<êÖ^jÖ]<Ùæ‚¢]<gŠu<íË×j§ 

 
< <

 [<Àuøi<]ƒ^Ú 

� <á_<ÀuøÞÜr£]( )V<ÇÖ^ke^m<¼Ç•<k�<æ<á‡]çjÚ<‡<íÏ×Ş¹]<ì…]†£]<íq…�<ÄÚ<ğ]�†�<g‰^ßjè<H 

<V<äé×Â<æteV
C

T
= 

ÐéfŞi<V< <

^né¹]<‡^Æ<àÚ<íéÛÒäÛru<ð^Âæ<»<ì�çqçÚ<á1 8V L= <<ì…]†u<íq…�<»1 30t c= ° <ëç¢]<¼Ç–Ö]<k�. 

<<kÃËi…c<]ƒc<‡^ÇÖ]<Üru<çâ<^Ú±c<äi…]†u<íq…�2 40t c= °<J<¼Ç–Ö]<‹ËÞ<k�< <
     Ø£]<<V< <

    V<äßÚ<æ<ÐÏ¦<Õ^‰çÖ<ë^Æ<áçÞ^Î<ádÊ<°je^m<äŞÇ•<æ<‡^ÇÖ]<ì�^Ú<íéÛÒ<á_<^²1 2

1 2

teV V
C

T T
= = 

                 <<V<äßÚ<æ                         <1 2
2

1

8(40 273)
8,26

30 273

V T
V L

T

× +
= = =

+
< <

45  40  35  30  25  t(°c)  
318  313  308  303  298  T(°K)  
0,88  0,87  0,85  0,84  0,83  P (Bar)  

40  35  30  25  t(°c)  
313  308  303  298  T(°K)  
51,4  51,2  50,3  49,4  V (ml)  
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4- ‡^Æ<¼Ç•<íÎøÂ( )P
 

äi÷çÚ<�‚Ãe( )n
 

�°je^m<Üru<æ<ì…]†u<íq…�<k<V 

{e<…‚Ïi<ì…]†u<íq…�<»(25 )c°<<Üru<î×Â<Ø’©<îju<ì†eý]<î×Â<¼Ç–Ö^e<ÝçÏÞ<æ<ð]ç�]<àÚ<íéÛÒ<gvŠÞ
( 0 )5V ml=<<H±c<Ø’Þ<îju<¼Ç–Þ<æ<hçvŠ¹]<Ür£]<�ÇÞ<ì†Ú<ØÒ<»<æ( 0 )5V ml=<Â<Ø’vjÞ<oé�<î×

<ì†Ú<ØÒ<»<ì�^Ú<íéÛÒ¼Ç–Ö]<°ÃÞ<æ( )P<<V<êÖ^jÖ]<Ùæ‚¢]<gŠu< <
3  2,5  2  1,5  1  0,5  n(10-3mol)  

1,49  1,24  0,99  0,74  0,5  0,25  P(Bar)  
 [<Àuøi<]ƒ^Ú 

� <°je^m<ì…]†u<íq…�<æ<Üru<»<�]�ˆè<¼Ç–Ö]<á_<ÀuøÞ�]‡<^Û×Ò<<äi÷çÚ<�‚Â( )n<H( )P <oéu

äi�^Ú<íéÛÒ<ÄÚ<ğ]�†�<g‰^ßjè( )n<<V<äé×Â<æteP
C

n
=<J 

 V<íÏe^ŠÖ]<l^ÎøÃÖ]<àÚ<æ 

                   <<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<                                   <<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<

1

2

3

4

.

.

.

.

PV K

P K T

V K T

P K n

=

=

=

=

 

<äÞ_<oéu<V<êÖ^jÖ]<ØÓ�Ö^e<êÖ^n¹]<‡^ÇÖ]<áçÞ^Î<íÎøÂ<íe^jÒ<àÓµ< <

<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<. . .PV n R T= 

                     <<<<<<<<<<<<<<< <
 

V<oéuR<<…]‚ÏÚ<êñ^èˆéÊke^m<<îÛŠèke^m<l]‡^ÇÖ]<íéÖ^n¹]<<íéÖæ‚Ö]<l]‚uçÖ]<í×¶<»<ëæ^Šè<æV< <
1 18,314( . . )R J K mol− −= °J<D<á^ÚˆjÖçe<ke^m<E< <

<êÖ^n¹]<‡^ÇÖ]<ÝçãËÚ<V 

 êñ^èˆéÊ<tƒç´<çâ<¹]<Í†’jÖ<êÓéÚ^ßè�<çÚ…^i<íè‡^ÇÖ]<íÖ^£]<»<ì�^<H<Ý‚Â<tƒçÛßÖ]<š†Ëè<oéu<°e<ØÂ^Ëi<�çqæ
<íÊ^nÒ<l]ƒ<l]‡^Æ<Ì‘çÖ<g‰^ßÚ<äÞdÊ<]„Ö<íéŞÏÞ<áçÓi<<�Ö]<æ<‡^ÇÖ]<l^òèˆqV<êÖ^n¹]<‡^ÇÖ]<l^Ë‘]çÚ<àÛÊ<í–Ë~ßÚ< <

1- <¼Ç•<k�<ë_<äèçj¬<ë„Ö]<ð^Âç×Ö<ífŠßÖ^e<ØÛãÚ<äi^òèˆq<ÜruJ<˜Ë~ßÚ 

2- l^Ú�^’i<äi^òèˆq<°e<l^Ú�^’jÖ]<J<íÞ†Ú 

3- J<íéq…^}<l]†möÚ<áæ�<íéñ]ç�Â<íÒ†u<äi^òèˆ¢ 

 Ú<ØÚ^ÃjÖ]<ØéãŠjÖ<ê•]�Êc<‡^Æ<êÖ^n¹]<‡^ÇÖ^Ê<æ<íè…]†£]<ÔéÚ^ßè‚Ö]<^�æ^ßji<�Ö]<Äé•]ç¹]<»<l]�Çj¹]<àÚ<�nÓÖ]<Ä
<½æ†�Ö]<æ_<l^é•†ËÖ]<‡^ÇÖ]<ØÃŸ<�Ö]<êâ<pønÖ]£]â<»<‚qæ<]ƒc<êÏéÏ^<äiÍæ†¿Ö]<Ò<Í†’jèÇJ<êÖ^nÚ<‡^< 

 êÖç¹]<Ür£]<V 

ì�^Ú<íéÛÒ<Øq_<àÚ1n mol=<<<V<êÖç¹]<Ür£]<î×Â<Ø’©< <

V<^ßè‚Ö<<<<<<<<<<<<. . .PV n R T=<<<<<<<V<äßÚ<æ
. .n R T

V
P

=<<<V<äé×Â<æ
.

m

R T
V

P
=< <

êÚ^¿ßÖ]<¼Ç–Ö]<çâ<¼Ç–Ö]<á^Ò<]ƒc51 1,013.10P atm Pa= =<<íéÚ^¿ßÖ]<ì…]†£]<íq…�<æ
0 273t c T K= ° ⇒ = °<çâ<êÖç¹]<Ür£]<ádÊ<V< <

(Pa) 

(m3) (mol) (J.°K-1.mol-1) 

(°K) 
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<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<   
3

5

8,314 273
0,0224 / 22,4 /

1,013 10
mV m mol L mol

−

×
= = =

×
< <

<<<V<çâ<êÖç¹]<Ür£]<äßÚ<æ<<<<<<<22,4 /mV L mol= 

Ü{{{{{{èç{{{{Ï{{i< <

<àè†ÛjÖ]<Øu04<<ívË‘256<<V< <

1- <íÏfŞ¹]<ìçÏÖ]<ì‚�<h^Šu<V 

<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<
2 5 2 4

.

. . 5 10 3,14 (0,2) 6,28.10

F P S

F P R Nπ

=

= = × × × =
< <

2- <Ür£]<h^Šu¼Ç–Ö]<á^Ò<]ƒc2 2P Bar=<V 

^ßè‚Ö<Øèçe<E<áçÞ^Î<àÚ–<<D<½çè…^Ú<V<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<1 1 2 2. . teP V P V C= =<< <

V<äßÚ<æ<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<             <<<<<<<<<<<<<<<<<<1 1
2

2

. 5 30
75

2

P V
V L

P

×
= = = 

<àè†ÛjÖ]<Øu08<<ívË‘256<V 

<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<
3

. . .

. .
. . . .

.

1,58 8,314 (39,7 273)
0,0014

16 181049

1,4

PV n R T

m
R T

n R T m R TMV
P P M P

V m

V L

=

= = =

× × +
= =

×

=

< <

<àè†ÛjÖ]<Øu09<<ívË‘256<V< <

V<^ßè‚Ö<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<1 1 1. . . ......(1)P V n R T= 

<V<^ßè‚Ö<æ<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<2 2 2. . . ......(2)P V n R T=< <

E<íÛŠÏe1E<î×Â<D2‚¨<DV<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<1 1 1 1 1 1 1

2 2 2 2 2 2 2

. . . .

. . . .

P V n R T T P V T

P V n R T T P V T
= = ⇒ =< <

<VäßÚ<æ<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<
3

3 31 1 2
2 5

2 1

. . 180270 1,968 10 268,98
3,91.10

. 0,7 1,013 10 343,91

P V T
V m

P T

−
−× × ×

= = =
× × ×

< <

<çâ<íÖ^£]<å„â<»<êñ^ãßÖ]<Ür£]<äßÚ<æV   <3 3

2 3,91.10V m−= 

<àè†ÛjÖ]<Øu10<<ívË‘256<V< <
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<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<

5 3

. . .

.

.

. .

.

3,86 8,314 282,55
70,88 /

0,93 1,013 10 1,358 10

70,88 /

PV n R T

PV m
n

R T M

m R T
M

PV

M g mol

M g mol

−

=

= =

=

× ×
= =

× × × ×

=

 

<
<
<

<êÖˆßÚ<gq]æE<ÜÎ…40D< <

<àè†ÛjÖ]<Øu05<<ívË‘256<V< <

<_I  <íje^m<‡^ÇÖ]<ì�^Ú<íéÛÒ<^ßè‚Öten C=<<íje^m<îÏfi<ì…]†£]<íq…�<æ<HteT C= <íe†rjÖ]<Ùø}J 

<hI  <Ý^Û’Ö]<xjÊ<‚Ãe1R<Ý^Û’Ö]<ð^Ïe<æ2R<<�Çi<p‚¬<Ð×ÇÚ<‡^ÇÖ]<ä×Ç�è<ë„Ö]<Ür£]<»<æ<Üru<Ù�^Ãè<ë„Ö]

<°jÊ†ÇÖ]<<<<<<<<<<<<<V3 3

1 2 5 2 7 7.10V V V L m−′ = + = + = = 

<Øèçe<áçÞ^Î<gŠu<oé�<¼Ç–Ö]<»<�Çi<ÔÖƒ<ÐÊ]çè<æ–<½çè…^Ú. tePV C=< <

V<äßÚ<æ1 1. .P V P V′ ′=<<<<<<<V<äßÚ<æ  <<<<<<
5 3

51 1
3

. 2 10 5 10
1,43.10

7 10

P V
P Pa

V

−

−

× × ×
′ = = =

′ ×
 

<V<çâ<‚è‚¢]<¼Ç–Ö]<V<äßÚ<æ<51,43.10P Pa′ =< <

<tI  <Ý^Û’Ö]<xjÊ<‚Ãe2R<Ù�^Ãè<oéu<Ür£]<»<�éÇi<p‚¬3 3

1 2 3 8.10V V V V m−′′ = + + = 

<<V<xf’éÖ<¼Ç–Ö]<�Çjè<êÖ^jÖ^e<æ1 1. .P V P V′′ ′′ =<<<<<< 

<V<äßÚ<æ  <<<<<<
5 3

51 1
3

. 2 10 5 10
1,25.10

8 10

P V
P Pa

V

−

−

× × ×
′′ = = =

′′ ×
 

V<äßÚ<æ<<V<çâ<pønÖ]<Í†ÇÖ]<»<�çqç¹]<‚è‚¢]<¼Ç–Ö]51,25.10P Pa′′ = 

<àè†ÛjÖ]<Øu14<<ívË‘257<V< <

V<^ßè‚Ö3 6 325 273 298 , 101,3.10 , 153 153.10T K P Pa V ml m−′= + = ° = = =< <
ÒjJ<íÆ…^Ê<íßÏ£]<í×jÒ<“Î^Þ<ð]ç�^e<ìö×º<íßÏ£]<êâ<‡^ÇÖ]<í×< <

<V<äßÚ<æ86,59 86,3 0,29m g′ = − = 

ÇÖ]<íÊ†ÃÚ<Øq_<àÚ<äßÚ<æ^ãjÞ…^ÏÚ<Üm<‡^Ç×Ö<íéÖç¹]<í×jÓÖ]<h^Šu<êËÓè<Ùçã�]<‡^ 

<<V<^ßè‚Ö<äé×Â<æ        <<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<. . .PV n R T= 

<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<

3 6

. . .

. . 0,29 8,3145 298
46,35 /

. 101,3 10 153 10

m
PV R T

M

m R T
M g mol

PV − −

=

× ×
= = =

× × ×

< <

íéÖç¹]<í×jÓÖ]<íÞ…^Ï²<äßÚ<æ<<l]‡^Ç×Ö<<íu�Ï¹]V<‚¨< <
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2 2 2 2( ) ( ) ( ) ( )64 / , 44 / , 46 / , 28 /SO CO NO NM g mol M g mol M g mol M g mol= = = =<< <

<çâ<Ùç�]<‡^ÇÖ]<äé×Â<æ<<êâ<h†Îù]<íÛéÏÖ]<äßÚ<æ2NO J< <

<àè†ÛjÖ]<Øu17<<ívË‘258<V< <

1- V<^ßè‚Ö<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<1 1. . .P V n R T=<<<<<<<V<äßÚ<æ1

1

. teP n R
C

T V
= = 

<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<2 2. . .P V n R T=<<<<<<<V<äßÚ<æ2

2

. teP n R
C

T V
= =< <

<Ù…^�<áçÞ^Î<gŠu<V        <<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<2 2

2 2

P P

T T
=< <

<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<   <<<<<<<
5

41 2
2

1

. 1,1 10 (10 273)
9,64.10

50 273

P T
P Pa

T

× +
= = =

+
 

2- <V<êÖ^n¹]<‡^ÇÖ]<íÖ�^ÃÚ<àÚ<^ßè‚Ö 1 1. . .P V n R T= 

<<V<oéu<<<<<<<<<<<1

1

.

.

P V
n

R T
= 

<_I  
3 310V m−= <<V<‚¨<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<

5 3
21,1 10 10

4,6.10
8,3145 283

n mol
−

−× ×
= =

×
 

<hI  <3 32.10V m−=<<<V<‚¨<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<
5 3

21,1 10 2 10
9,2.10

8,3145 283
n mol

−
−× × ×

= =
×

 

<tI  
3 30,5.10V m−=<<¨<V<‚<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<

5 3
21,1 10 0,5 10

2,3.10
8,3145 283

n mol
−

−× × ×
= =

×
< <

<àè†ÛjÖ]<Øu18<<ívË‘258<V< <

1- V<^ßè‚Ö<. . .PV n R T=<<<<<V<äßÚ<æ         <<<<<<<<<<<<<
5 3. 2,1 10 30 10

2,58
. 8,3145 (20 273)

PV
n mol

R T

−× × ×
= = =

× +
 

2- V<Ðf‰<^º<^ßè‚Ö<. . .P V n R T′ ′=V<äßÚ<æ<<<<
5 3. 2,3 10 30 10

321,65
. 8,3145 2,58

P V
T K

R n

−′ × × ×
′ = = = °

×
 

<V<êâ<í×rÃÖ]<»<ð]ç�]<ì…]†u<íq…�<äßÚ<æ<321,65T K′ = °<<æ_48,65t c= °<J 

3- ð]ç�]<¼Ç–Ö<ÄÞ^’Ö]<Í†�<àÚ<íu�Ï¹]<ÜéÏÖ]( 29 / )M g mol=<<læ‡ù]<íÖ^u<àÂ<ğ]�nÒ<Ì×j¡<÷
V<oéu( 28 / )M g mol=<ãéj×jÒ<h…^ÏjŽÖJ<°jéÖç¹]<^Û< 

<àè†ÛjÖ]<Øu19<<ívË‘258<V< <

1I <ì�^¹]<íéÛÒ<h^Šu1n <æ2n<V 

V<Ùæù]<á]ˆ¤]<»<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<1 1 1. . .P V n R T= 

<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<
5 3

1 1
1

. 2 10 2 10
0,16

. 8,3145 300

P V
n mol

R T

−× × ×
= = =

×
< <

V<êÞ^nÖ]<á]ˆ¤]<»<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<2 2 2. . .P V n R T= 
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<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<
5 3

2 2
2

. 10 5 10
0,2

. 8,3145 300

P V
n mol

R T

−× ×
= = =

×
 

2I <ê×ÓÖ]<Ür£]<<<<<<<<<<<<<<1 2 7
T

V V V L= + =< 

ì�^¹]<íéÛÒ<æ<<<<<<<<<<<<1 2 0,36
T

n n n mol= + =<< <

<V<äé×Â<æ<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<5

3

. . 0,36 8,3145 300
1,28.10

7 10
T

T

T

n R T
P Pa

V −

× ×
= = =

×
< <

< <
< <
< <
< <
< <
< <
< <
< <
< <
< <
< <
< <
< <
< <
< <
< <
< <
< <
< <
< <
< <
< <
< <
< <
< <
< <
< <
< <
< <
< <
< <
< <
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III - <êÖ^n¹]<‡^ÇÖ]<tƒç´V 

 

1- ¼Ç–Ö]<íÎøÂ( )P
 

äÛr�<á‡]çjÚ<‡^ÇÖ( )V
 

<Øèçe<áçÞ^Î<E–<D<½çè…^Ú<V 

  <Üru<l]ƒ<íßÏu<„}`Þ67, )2( V ml=íq…�<kéfnje<ÝçÏÞ<H<¼Ç–×Ö<Œ^éÎ<‡^ãœ<íÖç‘çÚ<<ì…]†£]
( 0 )2t c= °<ì�^¹]<íéÛÒ<æ32.10( )n mol−=<Ür£]<ì†Ú<ØÒ<»<�ÇÞ<æ( )V<‹fÓÚ<î×Â<¼Ç–Ö^e

V<êÖ^jÖ]<Ùæ‚¢]<»<ÐÊ]ç¹]<¼Ç–Ö]<áæ‚Þ<æ<íßÏ£]< <

 [<Àuøi<]ƒ^Ú 

 

 

 

2- ¼Ç–Ö]<íÎøÂ( )P
 

äi…]†u<íq…‚e<á‡]çjßÚ<‡^ÇÖ( )T<<Ù…^�<áçÞ^Î<ED<V 

        Ür£]<kfnÞ( )V ‚ßÂ<íßÏ£]<»<�çqç¹]<ð]çã×Ö( 0 )6V ml=äi…]†u<íq…�<�ÇÞ<æ( )t<e<»<æ<°~ŠjÖ^
¼Ç–Ö]<ØrŠÞ<ì†Ú<ØÒ( )P<<V<êÖ^jÖ]<Ùæ‚¢]<î×Â<Ø’vßÊ<H< <

 [<Àuøi<]ƒ^Ú 

 

 

< <

3- Ür£]<íÎøÂ( )V<äi…]†u<íq…‚e<ke^m<¼Ç–Ö<Ä•^}<æ<á‡]çjÚ<‡^ÇÖ( )T<D<Õ^‰çÖ<ë^Æ<áçÞ^Î<E<V< 

äi…]†u<íq…�<áçÓi<ğ̂ éñ^Ú<ğ̂ Ú^·<†–©(25 )c°<gvŠÞ<H<Œ^éÏÖ]<‚ßÂ(10 )ml<<Üm<HíßÏu<íŞ‰]çe<ð]ç�]<àÚ
ÃÞ<H<‚è‚¢]<Ür£]<‹éÏÞ<Üm<H<ë…]†u<á‡]çi<p‚u<îju<ğøé×Î<†¿jßÞ<æ<êñ^¹]<Ý^Û£]<»<^ã×}‚Þ<íe†rjÖ]<‚é

<V<êÖ^jÖ]<Ùæ‚¢]<gŠu<íË×j§<ì…]†u<l^q…�<Ý]‚~j‰de 

 [<Àuøi<]ƒ^Ú 

 

 

 

4- ‡^Æ<¼Ç•<íÎøÂ( )P
 

äi÷çÚ<�‚Ãe( )n
 

°je^m<Üru<æ<ì…]†u<íq…�<k�<V 

…‚Ïi<ì…]†u<íq…�<»<{e(25 )c°<<<î×Â<Ø’©<îju<ì†eý]<î×Â<¼Ç–Ö^e<ÝçÏÞ<æ<ð]ç�]<àÚ<íéÛÒ<gvŠÞ
Üru( 0 )5V ml=<±c<Ø’Þ<îju<¼Ç–Þ<æ<hçvŠ¹]<Ür£]<�ÇÞ<ì†Ú<ØÒ<»<æ<H( 0 )5V ml=<<oé�

¼Ç–Ö]<°ÃÞ<æ<ì†Ú<ØÒ<»<ì�^Ú<íéÛÒ<î×Â<Ø’vjÞ( )P<<V<êÖ^jÖ]<Ùæ‚¢]<gŠu< <

 [<Àuøi<]ƒ^Ú 

< <

20  30  39,9 50  67,2  V(ml)  
          P(bar)  
          P.V(Bar.ml)  

45  40  35  30  25  t(°c)  
318  313  308  303  298  T(°K)  
          P (Bar)  

40  35  30  25  t(°c)  

313  308  303  298  T(°K)  

        V (ml)  

3  2,5  2  1,5  1  0,5  n(10-3mol)  
            P(Bar)  


